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A. B-Suffix Array

0000000000000 BOOOODDOOODOOODOOOODOOODODOO $iIsSO0ODOOOO0ODn
OO0 ¢$is000 %is00000000000O0ODO000ODOO0O0O0ODOO0O0OODOOOoOODODO
OOooOBOOOODOO

OO00O0O0obOo0oo0obo02000b00o0obo0o BOoobODoOoOoOobOoOoomUoOobOUObDbOOD BOO
gooOOODbO0OOODObOODbDOoOOODbDO BOOOO

gobooobbodbobooob obboubboobbUUoUbboobbboobboOoO
dddoooooooooon

oooogoonoOoOoDDODOODODODODODODODODODODODODODODODODODODOODODODODODOOOoOOOO BpOoOaOd
000000000000 00000000000000000 $s {a\ldotsn}s 0 BOOOODOO0O
000 $ISQ0000D0 BOOOODOOBOOODOOOODODOD $B(s_{a\ldots n}) {l+1\ldots n-a} =
B(s) {a+I+1\ldots n}$[]

O0000000bO0bO0oboOo BpbOboobOobOOo BOUODOODOODDODODOODODODO

$s {a\ldots n}$0 000000000 DODOOO0ODOOO0ODOOOOOOODO BOOOODOOOO
OO00OO00Db0o0O0obooOO0oboooOoboboobbOO01boOobOO0 BOODOOODOODOODOOD
0000000000000 D0000D0000d $B(s) {a+l+1N\ldotsn}$s 000 BOOOODOOOOOO
goo

B. Infinite Tree
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D. Quadratic Form
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O 0$\max_{\boldsymbol{x} }\boldsymbol{b}~{T}Hboldsymbol{x}$[
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$$ \begin{cases} \nabla f(\boldsymbol{x})+\mu\nabla g(\boldsymbol{x})=\boldsymbol{0}\\ \mu
g(\boldsymbol{x})=\boldsymbol{0}\\ \mu\geO\\ g(\boldsymbol{x})\leO\\ \end{cases} $$

oo
$f(\boldsymbol{x})=\boldsymbol{b} "~ {T}\boldsymbol{x} $[1$g(\boldsymbol{x})=\boldsymbol{x} ~{T
}TA\boldsymbol{x}-1$[]

$$ \begin{aligned}

\text{tr}(\mathrm{d}g)&=\text{tr}(\mathrm{d}(\boldsymbol{x} ~ {T}A\boldsymbol{x}))\\
&=\text{tr}(\mathrm{d}(\boldsymbol{x} " {T})A\boldsymbol{x})+\text{tr}(\boldsymbol{x} ~{T}A\m
athrm{d}\boldsymbol{x})\\

&=\text{tr}((\mathrm{d}\boldsymbol{x})”~ {T}A\boldsymbol{x})+\text{tr}(\boldsymbol{x} "~ {T}A\m
athrm{d}\boldsymbol{x})\\

&=\text{tr}((A\boldsymbol{x})”~ {T}Hmathrm{d}\boldsymbol{x})+\text{tr}(\boldsymbol{x} ™~ {T}A\m
athrm{d}\boldsymbol{x})\\

&=\text{tr}(\boldsymbol{x} " {T}A~{THmathrm{d}\boldsymbol{x})+\text{tr}(\boldsymbol{x} "~ {T}
A\mathrm{d}\boldsymbol{x})\\
&=\text{tr}(\boldsymbol{x}~{T}(A~{T}+A)\mathrm{d}\boldsymbol{x}) \end{aligned} $$

0

$\mathrm{d}g=\text{trH\left(\left(\frac{\mathrm{d}g} {\mathrm{d}\boldsymbol{x} }\right)~ {T}\mat
hrm{d}\boldsymbol{x}\right)$J0 O O O O

$\frac{\mathrm{d}g} {\mathrm{d}\boldsymbol{x}}=2A\boldsymbol{x}$00 O
$\boldsymbol{b}+2\mu A\boldsymbol{x}=\boldsymbol{0}$00 $\mu=0$00 00 00O
$\boldsymbol{b}=\boldsymbol{0}$0 O O O 0$\mu>0$00 O $g(\boldsymbol{x})=\boldsymbol{0}3$[]
O 0O $\boldsymbol{x}=-\frac{1}{2\mu}A~ {-1}\boldsymbol{b}$]0 O

$$ \begin{aligned} &\boldsymbol{x}~{T}A\boldsymbol{x}\\
=&\frac{1}{4\mu~ {2} }\boldsymbol{b}~{T}A™{-1}AA"™ {-1}\boldsymbol{b}\\
=8&\frac{1}{4\mu~ {2} }\boldsymbol{b}~{T}A”~ {-1}\boldsymbol{b}=1 \end{aligned} $$

O O 0$\mu=\frac{1}{2}\sqrt{\boldsymbol{b}~{T}A"{-1}\boldsymbol{b}}$00 0 00O OO $%-
\sgrt{\boldsymbol{b}~{T}A™{-1}\boldsymbol{b}}$[
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E. Counting Spanning Trees
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F. Infinite String Comparision
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G. BaXianGuoHai, GeXianShenTong
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H. Minimum-cost Flow
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J. Easy Integration

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link: ol
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:intrepidsword:2020-nowcoder-multi-1&rev=1594909636 ¥.2

Last update: 2020/07/16 22:27

https://wiki.cvbbacm.com/ Printed on 2025/08/20 12:29


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:intrepidsword:2020-nowcoder-multi-1&rev=1594909636

	Contest Info
	Solutions
	A. B-Suffix Array
	B. Infinite Tree
	C. Domino
	D. Quadratic Form
	E. Counting Spanning Trees
	F. Infinite String Comparision
	G. BaXianGuoHai, GeXianShenTong
	H. Minimum-cost Flow
	I. 1 or 2
	J. Easy Integration


